ILC8038_ФункцГенератор300КГц
https://electronics.stackexchange.com/questions/118480/need-help-to-understand-op-amp-circuit?rq=1 

Обрати внимание - отрицательное питание  ILC8303.

Все выходные напряжения - +/-5V


IC2a is an amplifier that gets its feedback through the 8038 internals (via the 15K resistor).

The 8038 is being powered from 0V and -15V, so the control voltage (pin 8) should go from some negative voltage up to ground or maybe a bit higher (the 1N914 will limit it to 600mV higher than V+ of the 8038).

Ignoring the "diode conducting" condition, balance of the op-amp occurs when the current through the 15K resistor (R7) equals the current through R13, so when Vin/R13 = V_pin4/R7, or V_pin4 = -Vin⋅R7R13⋅R7R13, and it will drive its output (connected to pin 8) to achieve that condition (except if the input goes negative and the diode conducts, or the op-amp rails or current-limits)

If 5V is on the inverting input, then the op-amp will be railed at around -13~-14V.

If you're also asking how the circuit gets a linear VCO output from driving pin 4 to a specific voltage, I think that's a separate (and more complex question). Here's the internal schematic (and a link to an app note):

IC2a circuit appears to negate and integrate the input signal while the input signal is above Vout-Vd where Vd~0.6V. If the input goes below the voltage Vout-Vd, the diode would force the op-amp's output to Vout-Vd. The diode acts to prevent the op-amp from integrating a negative value for too long. Depending on the input signal frequency, it could be acting to zero out the integration.

For more info on integrating configurations look here.

If the input is left at 5 volts for a long-ish amount of time, then the output will hit the negative rails and be at somewhere slightly above -15V. If it's just a short time there, then it will be the negative integral of the signal divided by RC.

This configuration could be seen as something of a low-pass filter. It has other DC restrictions stated above though.

And the output rail is because pin 4 would be required to produce a 750mV (not possible?) to balance the input current? Also, how can pin 8 produce 600mV over V+ when the supply is -15V to 0V? And what is the purpose of the capacitor in the feedback loop? – sherrellbc Jul 9 '14 at 15:11 
· @sherrellbc The op-amp is powered from +/-15, so the diode limits the output to -13.5 to + 0.6 or so. The capacitor is to keep it from oscillating due to delays in the transfer function of the 8038 internals. The non inverting input is grounded so a +5 voltage on the inverting input will always rail the op-amp, because the 5V >> |Vos| and the open-loop gain * 5V is like 500,000V. – Spehro Pefhany Jul 9 '14 at 15:55
Регулируемый генератор синусоиды 10Гц-100кГц 0-10В на ICL8038
https://prom-electric.ru/articles/2/325/
Приведенная ниже схема генератора сигнала синусоидальной формы (синусоиды) может быть использована для тестирования и проверки функционирования фильтров и усилителей. Для проверки достаточно подключить генератор ко входу тестируемой схемы и настраиваем амплитуду выходного сигнала генератора. Затем измеряем напряжение на выходе схемы на интересующих частотах с помощью осциллографа. Также регулируемый генератор синусоиды может быть использован для настройки активных и пассивных фильтров. Генератор подключается ко входу настраиваемого фильтра, а выход фильтра подключается ко входу осциллографа. Например, для настройки фильтра нижних частот на ослабление сигнала на -3 дБ, необходимо получить на выходе напряжение 0.707 от величины  входного напряжения. С помощью этой техники можно настраивать различные фильтры частот. Основой устройства является специализированная микросхема генератор синусоиды ICL8038. Один из двух диапазонов частот устанавливается с помощью переключателя S2. Первый диапазон низкой частоты позволяет генерировать сигнал синусоидальной формы частотой от 10 Гц до 1000 Гц. Второй диапазон высокой частоты служит для генерации сигнала синусоиды частотой от 1 кГц до 100 кГц. Переменный резистор R2 предназначен для грубой настройки частоты, а резистор R1 для точной настройки. Переменный резистор R6 служит для регулирования амплитуды выходного сигнала от 0 до 10 В. Для защиты от короткого замыкания R9 и R10 ограничивают ток на выходе на уровне 100 мА. Подробную информацию о  характеристиках микросхемы генератора можно получить, скачав datasheet ICL8038.
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